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For Questions 0 15 use the Optical Scan Sheet to indicate A for True and B for Faise

L. A cost pool is  grouping ofindividual cost items.
2. Normal spoilage is avoidable and controllable.

3. In process-costing, not counting the equivalent units or spoilage will decrease the
quivalent unts, and decrease the cost of éach good unit

4. The costs of abnormal spoilage are writen offasa Ioss; however, the costs of normal
Spoilage are trcated as part of cost of goods manufactured.

5. The unit costs of abnormal and normal spoilage are equal, when the two are detected.
simultancously.

6. Budgeted financial satements are also referred 10 as pro forma statements.

7. Transfered-n costsare an allocated indirect cost in process-costing
8. In process-costing, unit costs do not luctuate befuween periods.

9. A budgetis a quantitative expression for  se time period of a proposed future plan of
action by management.

10. The net ealizable value method can be used for products for which there may not be any.
‘market price available at split off.

1. The single-rate method is when allindirec costs are combined in ane cost pool and
allocated 0 cost objects via a single rate per unit,

12. e production budget of a manufacturing company is prepared fe therevenue et
13. Budgetrysack isautomatialyincluded inthe rvenue budge,

14. The actual dataresulng fom asetegy should be compard to budgetd reslts

15. The weghted-average prosess-cosing methd distinguishes between unissated i the

previous period but completed during the current period and units sarted and completed
dring the current period.
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‘Ayers Company has two servics departments, Maintenance and Cafeteri, as well as two.
production departments, Mixing and Finishing. Maintenance department costs are allocaied
based on direct-Jabour hours and Cafeteria department costs are allocated based on number
of employees. The following information i also available:

Department  Mainicnance  Cafeteria Mixing  Finishing
Costs SIS0 L0 600 8200
Directiabour hours 100 0 50 0
Number ofemployees 4 2 16 2

19. Assuming the step-down method of allocating costs and tht Maintenance deparment
renders the gratest service, determinc the amount of Maintenance department's costs that
willbe allocated to Mixing department,

A. 5800
B $700
c. $600
D. 400
E. None of the above

20. Assuming the step-down method of llocating costs and that Maintenance department
renders the greatestservice, determine the amount of Maintenance department's coss that
will be allocated to Finishing department.

A. 5600
B $700
C. $400
D. 5800
E. None of the above:

21. Assuming the step-down method of allocating costs and that Maintenance department
rendersthe greatest service, determine the amount of Cafeteria department' cost that il
be allocated to Mixing department,

A. $600
B. $700
C. $400
D. $800
E. None of the above

22. Assuming the direct method of allocating costs, determine the amount of Cafeteria
department’s costs that will b allocated to Mixing department.
A $2000
B, $509
c. $560
D. $400
E. None of the above
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On occasion, the FIFO and the weighted-average methods of process-costing will result in
the same dollar amount of costs being transferred to the next department. Which of the.
following scenarios would have that result?

A, When thereis no beginning inventory

B, inventories are equal i terms of unit numbers

C.. When the beginning and ending inventories are cqual in terms of the percentage of
D.

completion for both direct materials, and conversion costs
‘When there is no ending inventory
E. There is no scenario that would have the required result

Ampco Disk Company operates a computer disk manufacturing plant. Direct materials are:
added t the end of the process. The following data were presented for August 2009:

‘Work in process, beginning inventory 100,000 units
2

Transferred-in costs
Conversion costs 2 (90% complets)
‘Transferred in during current period 300,000 units
Started and Completed. 250,000 units
Work in process, ending inveatory 50,000 units
Transfered-in costs 7

Conversion costs 22(65% complete)

‘Calculate equivalent units for conversion coss using the FIFO method.
A, 401,500 units
B. 292,500 units
C. 300000 nits
D. 350,000 units
E. Cannot be determined from the information given above

‘Two products Y and Z are produced through a joint process. Each unitof Product Y can be
sold for §5 and Product Z for $4. Joint costs for the two products totalled $4,000 for July for
600 units of Y and 500 units of Z. Ifth sales value at split-off method is used, what rc the
Fespective joint cost assigned to each unif of products Y and Z?

A.§2.96 rounded and $4.44 rounded

B.$4.00and $320

C.$4.00 and $4.55 rounded

D.54.55 rounded and $4.55 rounded

E-None of the above.
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